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εk = µ4/σ4 − 3
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-./.0. 12 343 56 789: ;6<=9>6<?
56 7@><:=A B?9C
X = 4, a, 9, 12, 16
p = 2, 34, 41, 30, 12
D(X) = 8.1223

-./.0. 12 3D 3 5:=A 77? E <:96 FBG <:B?9C
X = 5, 6, 10, a, 16
p = 13, 33, 49, 34, 5
D(X) = 9.7572

-./.0. 12 31 3 ;6 <>B? ;6<=9G 9A
H9I<J6B?9C
X = 4, 6, 10, 12, a
p = 5, 36, 51, 36, 5
D(X) = 7.8272

-./.0. 12 32 3 K6 <L@B? M 9@9N<
;6<=9G 9A B?9C
X = 4, 6, 10, a, 16
p = 8, 35, 50, 41, 4
D(X) = 11.9420

-./.0. 12 3O 3 KA 9:7?9C P6QR
S B:>N<:N9:B?9C
X = a, 7, 9, 14, 17
p = 2, 34, 42, 41, 13
D(X) = 12.6342

-./.0. 12 3T 3 UA8B? M 9@9N< V7A W77?9C
X = 4, 7, 11, 14, a
p = 7, 38, 44, 36, 7
D(X) = 11.4189

-./.0. 12 3X3 YZL< 5:<>N<>9R [6 7WB?:<
X = 3, a, 10, 13, 16
p = 3, 37, 43, 36, 9
D(X) = 10.8329

-./.0. 12 3\ 3 PAI< S 9A 966 ; <=9G B?9C
X = 3, a, 10, 13, 16
p = 3, 31, 42, 36, 3
D(X) = 9.3205

-./.0. 12 3] 3 S ^:=9^> U WBA U ?W7:Q7?9C
X = 4, a, 9, 12, 17
p = 10, 41, 40, 38, 11
D(X) = 8.9214

-./.0. 12 34_ 3 `^a 7:@B b 7NA
;9@NBA B?9C
X = 4, 8, 11, 13, a
p = 7, 41, 50, 34, 8
D(X) = 7.9543

-./.0. 12 3443 H <L^A P6QR ;9@NBA B?9C
X = 4, 6, 10, a, 15
p = 9, 37, 50, 32, 4
D(X) = 7.8675

-./.0. 12 34D 3 M 7C<7?< b B69:< P WBA 7?:<
X = 4, 6, a, 12, 17
p = 3, 35, 52, 38, 12
D(X) = 10.2798



-./.0. 12 341 3 [c^IB? V7G 7: E 7:9>B?9C
X = 3, 7, 9, 12, a
p = 7, 36, 43, 30, 10
D(X) = 8.0612

-./.0. 12 342 3 b6 7I<:B? 5AN7G
E G 9NA 97?9C
X = 3, a, 9, 12, 15
p = 4, 39, 45, 31, 5
D(X) = 6.0923

-./.0. 12 34O 3 V769?<:B? 56 7@><:=A
H9I<J6B?9C
X = 4, 8, a, 14, 15
p = 4, 34, 42, 42, 9
D(X) = 8.1316

-./.0. 12 34T 3 VN^d<@ 56 7@><:=A<
56 7@>77?:<
X = 3, a, 11, 13, 16
p = 6, 33, 52, 39, 13
D(X) = 11.5786

-./.0. 12 34X3 V^IB? 56 7@><:=A
56 7@><:=A B?9C
X = a, 7, 10, 13, 16
p = 9, 33, 44, 32, 6
D(X) = 9.0439

-./.0. 12 34\ 3 e7A 7IB?< H <A W<A 9N<
567@><:=A B?:<
X = a, 7, 10, 14, 15
p = 7, 39, 48, 40, 7
D(X) = 10.6598

-./.0. 12 34] 3 f7A :<:=^ H <A >769:^
g ^69^
X = 4, 7, a, 14, 16
p = 5, 34, 47, 42, 7
D(X) = 10.7399

-./.0. 12 3D_ 3 h 9G 7:7> H 7:=97N< h ^69B
Vi><A
X = a, 8, 11, 14, 16
p = 6, 41, 51, 35, 9
D(X) = 7.9185

-./.0. 12 3D43 j <dB?<6B? 5:=A 7J
U ?W7:Q7?9C
X = 4, 6, 9, a, 16
p = 9, 38, 42, 39, 6
D(X) = 10.9974

-./.0. 12 3DD 3 j <dB?<6B?< H <A 9R
U ?W7:Q7?:<
X = 4, 7, 10, a, 17
p = 10, 32, 45, 36, 9
D(X) = 10.6916

-./.0. 12 3D1 3
X = 4, 7, a, 13, 15
p = 2, 36, 40, 34, 8
D(X) = 7.8275

-./.0. 12 3D2 3
X = a, 7, 9, 13, 17
p = 10, 41, 43, 41, 8
D(X) = 9.8841



-./.0. 12 3DO 3
X = 4, 7, 9, 13, a
p = 6, 37, 43, 35, 6
D(X) = 8.6937

-./.0. 12 3DT 3
X = 4, a, 10, 14, 16
p = 3, 41, 45, 36, 5
D(X) = 9.4202

-./.0. 12 3DX3
X = 4, a, 9, 13, 16
p = 4, 40, 45, 39, 10
D(X) = 9.1229

-./.0. 12 3D\ 3
X = 5, 8, a, 14, 16
p = 10, 36, 44, 42, 7
D(X) = 9.0812

-./.0. 12 3D] 3
X = 5, 7, 10, 14, a
p = 11, 34, 46, 34, 9
D(X) = 10.7528

-./.0. 12 31_ 3
X = a, 7, 10, 12, 17
p = 4, 39, 51, 37, 6
D(X) = 6.8061

-./.0. 12 3143
X = a, 7, 9, 13, 17
p = 1, 33, 40, 38, 9
D(X) = 9.5955

-./.0. 12 31D 3
X = 5, a, 10, 13, 15
p = 5, 31, 48, 38, 2
D(X) = 6.4170

-./.0. 12 311 3
X = 4, 8, 10, 13, a
p = 9, 37, 50, 33, 10
D(X) = 8.0726

-./.0. 12 312 3
X = 4, 8, 10, a, 16
p = 12, 35, 48, 41, 3
D(X) = 9.5287


